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Periodic Classification of Elements

1 According to Men deleefl periodic law, the properties

of elements are periodic fanction of their-

(8) atomic masses (b) atomic nnmbers
(¢) atomi volumes (d) densities

Ans : (a) aromic masses

2. If the two members of o Doberemes trisd are

pbusphorns and satimony. the third member of this

trind s
(n) arsenic (b) sulphur
() odine (d) calcium
Ans : (a) arsenic
3. Select the correct pair that have largest and sallest
otoms respectively
(s) F and C (b) Li and C
(¢) N and O (d) H and Li

Ans : (b) Li and C

The first clement in any period has lavgest size in
that period The size decrenses ue we move from left
to right in any period. Hence lithinm (Li) has largest
size, while carbon (€) has smallest size among the
given aptions

4. Consider the section of the periodic table

Group 1A 1A 1A IVA
mnnber
Period 1 2 13 14
Second Li (8
Thud A Mg Al Si
Fouth K B D
Identily A B5,.C and D
A B o D
{n) Cs Be Ca C
(h) Na Ca B Ge
(¢) Na B Cla Ge
(d) Cs B Ca €
Ans : (b) A-Na, B-Ca, C-B, D-Ce
A=Na|B=Ca |C=B |b=te
Period 1 2 13 14
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Li Be B o
Na Mg Al Si
K Ca Ga Ge

3. The corvect order increasing acidic nature of SQ.,
S‘IOQ, PQO‘ and Al,O. =
(l) AlLO; < 810, < POy < SO
(b) SO, < P03 <S50, < AlLO;
(C) AI;O, < 8i0, < P40y < SO,
(d) $i0, <80, < AlLO; < P,O,
Ans : () AlOy < Si0, < PyO; < SO,
Al forins amphoteric oxide. Non-metals (S, P) form
acidie oxide Metalloid (Si) forms basic oxide
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6. How many periods are three in the long form of the
peniodic table-

(a) 6 (b)7
(c) & (d) 0
Ans : (b) 7

1. Elements belongimg to the same proup have similar

propenties becanse
() they have similar electronic confignration of the
ovutermost shell

(b) their atomic numbers go on increasing as we move
down the group

(c) all of them metallic elements
(d) none of the above

Ans : (a) they have similar electronie confignration of
the cutermost shell

8.  Wihich of the following will not represent, Dobereiner's

triad?
{a) Li, Na, K (b) Be, Mg, Ca
(¢) €1 By, | (d) N, P, As
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Chap 5 . Penodic Classification of Elements

M. Which of the following elament if not the member of
second period?
(a) Li (b) Ca
() F (d) C
Ans : (b) Ca
The member of the secemd-period elements are Li. Be,
B. C. N, O, F and Ne. Thus, calcinm (Ca) is not the
member of second period. [t belonge to 4™ period
(Z=20)
12. The elements with atomic number 2, 10, 8, 18, 36, 54
and 86 are sll-
(8) halogens (b) noble gases
(<) noble metale (d) light metals
Ans : (b) noble gases
13. Which of the following statement s incowrect for
atomic size?
(8) Atomi size of B > Be
(b) Atowie size of Be > B
() Atomic size of N > O
(d) Atomic size of C > N
Ans : (a) Atorme size of B > Be
In long form of periedic tsble, atomic size decieases
along the penod, as we move from left Lo rght in
any period due to increase in effective mnclear charge,
Thus, atemic size of B is less than of Be Hence, (a) 14
the incorvect statement
W An clement X belongs to gronp 2 and period 3 of the
periodic table The chemmical formulue of its nitiate,
Download all GUIDE and Sammle Paper pdfs fram

Ans: (d) N, P, As

The tnad N, P und As will not represent the
Dobereiner's triad becanse the average of atomic
masses of nittogen (N) and arsenic (As) is not equal
to the atomic mass of phoasphoms (P)
Atomic mass of Nitrogen = 14
Atomio mass of Arseme = 749

Avemggx.-.z"—g%'MzMS

Which of not equal to the atomic mass of P (e
3L0)

The element with smallest size in the 4th period is-
() chlorine (b)Y 1odine

(e) flucrine (d) bromine

Ans : (d) bromine

Om moving along o period atomic radil decreases.

1, Br, L if this is Doberemer’s triad and the atamic

masses af Cl and | are 35.5 and 127 respectively the
atoune moss of Br -

(a) 1625 (b) 1.5
(c) 81.25 (d) 45.625
Ans : (c) 8125

According o Dobereneir’s trind the atomic moss of Br
will be average of the atomic masses of Cland T

= +35'5 127 _ 81.25

15.

1.

sulphate and phosphute respectively will be
(0) X(NOy)s, Xu(S0)s Xo(POYa

(h) X:(NOg)s, Xa(SO s, Xa(PO s

(¢) XNOj XSO, XPO,

(d) X(NO;)s XSOy Xs(POy),

Ans : (d) X(NO3)y, XSOy, X3(POy);

An element X belongs 10 group 2 and penod 3. So,
1t 15 Mg which idvalent. Thus, the chemnical formnlos
of nitrate is Mg* (NO3),, sulphate s Mg**SO7 and
phosphate 1 MG} (PO3 ).

An clement belongs to group 17, It s present in thicd
period and its a atomic number is 17 What is the
atomic number of the element belongmg o smune

group and present in fifth period”
(a) 25 (b) 33
(c) 35 (d) 53
Ans : (d) 53

Group 17 and 3rd period = 17(Cl)
Gremp 17 and 4th period = 17 +8(35)
Group 17 and 6th period = 35 4 18(53)

Consider the following figure:

r g r
Ru Rh 5
Os Ir Pt

Here, p,¢.r and s respectively are:
(n) Fe, Co Pd. Ni (b} Pd, Co, Ni, Fe
(c) Fe, Co Ni, Pd (d) Fe, Ni. Co, Pd

Ans : (¢) Fe, Co, Ni, Pd

Group 8 9 10k

Penod

1 e Co N1

5 Ru Rh Fh

6 Os Ir Pt

Which of the following property increases dowm the
group?

() Electromegutivity

{b) Electropositive nature of clement

(c) Atomic size

(d) Both (b) and (¢)

Ans : (d) Both (b) and (c)

Electronegativity decreases, as we move down the
group, while electiopositive nature and atomic size
ncrenses 05 we move down the group due to addition
of an extra main shell.

The correct order of first IE of C, N, O, F is-

{a) Fo2OuNLC (b) C2=N-O=F

(c) O=N=F=C (d) F>N=>0>0

Ans : (d) FoN>ORC

In w period, the valne of onsation potential mereases
from left to tight with breaks where the atoms have
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Chap 5 = Periodic Classification of Elements

some what stable confipnvations hence the correct
ovder will be FAN=0C

The atoms of clanents belonging to the same group of
periodic table have the smne

(n) number of protons

(b) mamber of dectrons

(¢) munber of neutrons

(d) munber of electrons m the outermost shell

Ans : (d) mumber of electrong m the outermost shell

Which of the following is the correct arder of relative
size
) I'>F>17

(© IsT'>T
Aus:(b) F>1>r

by I >i>1"
d)r>r>1

Newlands could classify elenents only upto-

(a) copper (b) chlarine
() enleium {d) chromum
Ans : (¢) calemm

Mendeleev classified elements in-

() imerenzang order of atomic groups
(b) eight periods and eight groups

(1) seven periods sand nine gronps

(d) eight periods and seven groups

Ans : (¢) seven periods und nine groups

An clement M hos an atome sumber 9 and atomic
mass 17 Its wom will be represenved by-

(a) M (b) M
() M (d) M
Ans : (e) M

The elernent 1= halogen and has one less clection than
inert gas configuration hence can be vepresented as
M on

Listed below mre the locations of certain elements i
group and periods of the periodic table )
Arrange these elements in the expected order of
mereasmg non-metalhic character.

1. Element in the fourth period and group IV A
2. Element m the thnd penod and group VI A

3. BElement in the fourth period and group VI A
A.  Element in the six period and gronp 11T A

5. Element i the second period and group VII A
The carrect order is:
fu) 1<2<8<4<hb

(£) 4<1<3<2<h
Ans: (cld<1<3<2<5h

(b) 5<d4<3I<2<1
() 5<4<2<1<3

Group |III |IVA [VA |VIA |V Vil
Period. | A A A
1
2 5
>, I 2
Lo G Ll andl DAmgae « opel pdfs from
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Non-metalhe character decreases down the group and
increnses across the period lence, incressing order of
fust non-metallic of these elements are:
4<1<3<2<5

The elements with atomc numbers 3, 11, 19, 37 and

55 belong to
(n) alkal metals (1) alkaline earth metals
(€) halogens (d) nobles gascs

Auns : (a) alkal metals

If the two members of a Dobereiner tnad are chlorine
nnd jodine, the thivd member of this trad -

(a) fuorine (b) hromine

(¢} sodium (d) calchim

Ans : (b) bromine

The most metallic alement in the fifth period is-

(a) silver () rubidium

() gold (d) rhodinm

Ans : (b) rubidinm

The metallic character decreases as we move from left
to right in a period

An element X combines with hydrogen to form a
compound XH; The element X is placed on the
right side of the peridic table. Which of the following
statement iz correct for element X7

1. Has two valence electrons,

2. = & metal and is solid

3. Is a novanetul sud o goas.

4 Has five valence electrons

5. XHj; rencts with waler 0 fonn s basic compound.
(a) 1,2and 3 {b) 2, 3 and 4

{e) 3.4 and 5 (d) % 1 and 2

Ans:(c) 3, dand 5

Element X is N(nitrogen) becanse it 1s placed on the
right side of the periodic table and the compound is
NH; X i= nom-metal and valence electrons are 5

Noble gases wore included in Mendelev's periodic
table in the-

(n) 1 st group

(c) 8th group

Ans : (d) none of these

(b) Tth groap
(d) none of these

In the modern periodic table one of the following dos
not, havee appropriate position-

(a) transition elements (b) inert gases

(¢) mner transition alements  (d) halogens

Ans : (c) inner transition elements

3. The clement with the smallest size i the group 13 is-

(a) bervlhum (b) carbon
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Chap 5 . Periodic Classification of Elements

() whiminium
Auns : (b) earbon

(d) boron

32 The long form of pericdic rable consists of-

(a) seven periods and sight groups

(b} seven periods and cightern groups
(c) eight periods and eighteen gronps
{d) eighteen peniods and eight gronps

Ans : (b) seven periods and eighteen groups

1w

17

Dobereiner grouped the elements into triads and
Newlands gave the ...
Ans : Law of Octaves.

The law of triads was given by
Auns : Doberciner

Valency otnndmmthalhctoqudmﬂwmnberol’
valence olectrons show similar . .. properties.

Ans ¢ eight, chemical

According to Modern periodic law, the clements are
arrsnged in the periodic table i the order of their
incrensing ;!

Ans : Atomic mmmber

Mendeleey aranged the elements mv:mn;onlcruf
thair. ... . and nceording to their . properties.

Ans : Atomic masses, Chemical

. arranged the known elements in order of their
increasing atomic weight in the form of s table called
Periodic Table,

Ans : Mendeleev

The elements in groups, 1, 2 and 13 1o 18 are known
elements

The volency of an atom i equal toits .. ..
Ans : Combining capacity

v, showed that group of three elements colled
trind had similar properties.
Ans : Dobereiner

Mendeleevy predicted the existence of some vet to
be discovered clements on the basis of ... m s
Periodic Table

Ans @ Gaps

Elements in the Modern Petiodic Table are mranged

Download sl GUIDE and Sample Paner pdfs

3.

16.

v RO vertical columns called BIRE s
havizontal yows called .
Ans t 18, groups, 7, pericds
In Modern 'eriadic Table. there ave ... honzontal
rows called ... and . vertical colmmms called

Ans @ seven, periods. eighteen, groups
Elements with eight electvons m thenr outermost

enevgy shell are called
Ans : Noble gases

Anomalies i arrangement of clemenis based on
incressing  atomic mass conld be removed when
element discovered by Moseley.

Auns : atomic

If two elements have the same number of valence
eleotrons, then they belong to the smme . of the
Ans : Croup

m‘n ‘_g

As nnmber of shells ncreusses. atoric orbitals become
laager and less stahle.

Ans ¢
True

Atomic radii decrease from left W nght across a row
of the patiodic table
Aus : True

Atome radii morease from top to bottom down o
colomm of the periodic table

Ans : Tme

Fluorine has highest electron sffinity i the periodic
table.
Ans : True

Valency changes down the group
Auns : False

The elements of group 17 are called halogens.

Ans : True

Along u period, scidio character of the oxide of the
clements increases and their basie character decreases.
Ans : True

The elements X with atomic munber 15 belongs to
third penod and group 15.

Ans : True

The mumber of shells increases in o given period from
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left to right in the periodic table
Ans ¢ False
The number of shells remain same m a given penod.

M. The elemenis silicon, germanium and arsenic ne
called metallowds.
Ans : Troe

M. When Mendeleev started his work, 63 elements were
known

Ans : Tme

12. Doberemer could identify only three trinds of elements
These ave Li, Na, K; Ca, Sy, Ba and €1, Br, |

Aus : True

1. Elements are clssified on the basis of similaritics in
their properties
Ans : True

4. Hows in the peniodic table are called peniods.
Ans : True
Rows in the periodic table are called periods. The
colummng of the periodic table are called groups.

1. The columms of the periodic table are called groups.
Anz : True

16. You will find metals on the extreme right side of the
penodic tuble.
Ans : False
Inert gases are found on the far nght of the periodic
tuble. Halogens wre in the second group form the
right Metale of all types are found around the keft
and middle side of the perodic table. There may be
alkalitransition, or alkaline earth metals across the
table

1. Althengh the order of clements = based on atoumc
pumber, vertical families  shore similar  chemical
properties.

Ans : True

W, As nucloar charge incresses. atomic arbitals become
sinaller and more stable.

Auns : True

18. Noble gases are placed extromely left m the periodic
tuble.
Ans : False
Noble gases are placed extremely right m the periodic
Lable

20. Magnesium 15 more metallic in nature thon sodinm
Ans : False

=3

DIRECTION : Each question contains statements given in
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two columms which have to be matched. Statements (A, B, C,
D) in colmnn-1 have to be matched with statements (p, q, 1, <)
w column T

1. Column Il gne group to which dement in column |
belong match them correctly.

Colonm I Colwunn IT
(A) | Nitrogen (p) |15
(B) | Aluminium (q) |16
(C) | Chlorine (r) |17
(D) | Oxygen (x |13

Ans : A-p, B, Cr, Dg

2. Colunn I give period to which element in column |

match them corvectly

Colmmm 1

(A) | Hydrogen (p) |3
(B) | Sodhm (a) |4
(C) | Calerum (x)
(D) | Barmum (s |1
Ans : As, Bp, Cq, Doy

Colwum IT

3. Mutch the column-

Cohmun |

(A) | Element with (p)
lorgest size in
second pericd
(B) | Element with (q)
smallest size in
group 13

() | Element with (r)
maximum non-
metallic character.

(D) | Blement with (%)
emallest size n
fourth penod

Ans : A-s, B-p, Cq, Dor
DIRECTION ; Following question bas four statements (A,
B, € and D) given in Columnn 1 and four statements (p, q. r
and ) in Colummn 11 Any given statement in Column 1 can
have correct matching with one or more stateinent (s) given
in Column IL Match the entries m colmnn | with enties in
column I,

Colwmn [T

Muorme

lithinm

a

Colwun 1 Colwun 11

(A) | s-block (p) | Alkali metals
clements

(B) | p-block (q) | Alkaline earth meals
elements

(C) | Representative | (r) | Hologens
clements
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Chap 5 Periodic Classification of Elements

Colimm 1 Colum 11
(D} | High wnisatwon | {s) | Noble gases
neTEy
A B [ D
() |p.q I, 8 p,a.r |r.x
(h) Pq 4 5.1 P
(@) |s q.r p.q v
d |ra 9 59 p.ar
Ans: (a) A-pq, Baas. Cpoq, 1, Dot s
5
Cohmm 1 Columnn 11
(A) | He {p) | P- block
(B) | €1 {q) | Metal
() | Cu (r) | Noble gus
(D) | Sn () | Non-metal
A B C D
(a) |p.x q Lp |s
m | q 1 5 p, 5
(’(‘) r p. s q P4
(d) |rp q, 1 p.a_|s
Az : () Ar, B-p. s, C-q. D-p. q
6.
Coluun 1 Colunm IT
(A) | Metals (p) |High LE
() | Non-metals (q) |LowlE
(C) | Tennsition Metal  |(1) |High EA
(D) | Noble goses (s) |Low EA.
A B C D
(0) Ja.r p.8 q [
(b) |p a4, s 5 r
(¢) Ja.r 5 P pr
(d) |« q q,8 p
Ans : (n) Aq, 7. B-p, s C-q, D-p. 1
T
Colunn A Colmn B
1 |xCa (a) f3
v O (b) 1=
K] JHe (e) |2
4 |1 (d) |4%
5 wE
Downdoad #' CGUTPE prdd Qe 0 el f fran

Aus : 1-(d), 2-(c), 3-(b), 4-(a), b-(n)

[ 8
Colonn A Colinn B
1. uNa () |8
2. oF (b) 4
3 «Ca (0) 1
1 =Al (d) 2
5 «C
6. Ko
Ans @

1-{e), 2-(c}), 3-(d). 4(a), B-(b), 6-(d)

TP

DIRECTION : In the following questions, a statement of
assertion (A) s followed by a statement of reason (R) Mark
the correct chowe as.

(a) Both assertion (A) omd tenson (R) are true and
reason (R) i the corect explanation of assertion
(A)

(b} Bath assertion (A) and veason (R) are true but
reason (R) i not the correct explanation of
assertion (A)

(c) Assertion (A) is true but resson (R) is false.

(d} Assertion (A} is false but reason (R) s tme.

(e} Both Assertion and Reason are false

1 Assertion : Mendeleev'’s s left the gup under alummium
and silicon and called these Eka-alumininm and ke
silicon, respectively.

Reason : Dobereiner arranged elements on the basis of
increasing atomic nnmber

Ans : (c) Assertion (A) 15 true but reason (R) is false
Dobereiner aranged elements on  the basis of
merensing atomic weights,

2. Assertion : According to Mendeleev, the properties
of elements are ¢ penodie function of thar atomic
INARSAS
Reason : Atomic number 3 cgual to the number of
protons
Ans: (b) Both sssertion (A) and veason (R) are
true but renson (R) s not the correct explanation of
assertion (A)

3. Assertion : Noble gases are also called inert gnses.

Reason : Noble guses have a complete octet.

Ans : (a) Both assertion (A) and reason (R) are tre
amd veason (R) is the correct explanation of sssertion
(A).

Noble gases are also eallad inert gases hecause they
don’t need to react with other elements to fill their
outer shell (octet), as they already posses full valence
shell

4. Assertion : Nitrogen has higher iomization energy than
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Dawrilon

that of oxygen

Reason : Nitrogen hss smaller atomic size than that
of oxvgen.

Ans : (v) Assertion (A) is true but yeasom (R) 1s false
Nitrogen has higher wusation cncrgy ss 1t has stable
half filled orbital structure.

Assertion : Llectronegativity of fluorine is greater
than that of oxygen.

Reason : The electronegativity of the elements
increaxes nlong a period since the metallic chavacter
mCresses,

Ans : (0) Assertion (A) 1= true but resson (R) 15 fakse
Assertion is true but reason is false. Electronegative of
flonrine is greater than that of oxygen. simee the non-
metallic character increases along a period from left to
right in the modern periodic table.

Assertion : Be, Mg and Ca can be classified as
Dobereimer’s trinds

Reason : Atomic mass of Mg is approximately the
nverage of the sum of stomie masses of Be and Ca.
Ans : (a) Both assertion (A) and resson (R) are true
and reason (R) s the correct explanation of assertion
(A)

According to the Dobereiner’s trmds, the three
clements in on traid were arranged in the order of
increasing atomic masses. the atomic mass of middle
element was roughly the average of the atomic masses
of the other two elements So. taking Be. Mg and Ca
as 8 trd.

Elements Be Mg Ca

Atomic '] pa| 40
mass
Average atomic mass of first and third element
9+40 _oy45

Assertion : The elanents of the sume group have
similar chemical properties.

Reasan : The elements of the same group hove the
different mamber of valence electronic

Ans 1 (o) Assertion (A) s true but reason (R) is false
Assertion 15 true but reason s false. The elements of
same group have similar chemndcal properties due to
the same number of valence alections,

Assertion : Eloments of gronp 16 are monovalent
Reasan : Elements of group 16 have seven electrons in
their outermont /valence shell

Ans : (e) Both Assertion and Heason are false

Both Assertion and Resson ate fulse, Elements of
group 16 are divalent as they all have six electrons in
their valence shell.

Assertion : Silicon 1= a metallowd.
Reason : Sihicon shows only properties of non-metals.
Ans @ (¢) Assertion (A) is true but reason (R) s false.

Assurtion @ According  to Mendeleey,  perodic
properties of elements is a function of their atomic

LG dnd D Paper fraa

mumbey
Reason : Atomw number s equal to the number of
protons
Ans : (d) Assertion (A) is false but reason (R) is true

According to  Mendeleev, periodic  properties  of
elements s a function of their atomic masses.

Assertion : lonization enthalpy is the energy released
to remove an 2lection from an solated gaseons atom
in its ground state

Reazon : Element has a tendency to lose of gain the
clections to attain the stable configuration

Auns ¢ (d) Assertion (A) is false but reason (R) is true
Assertion 15 false bul reason 15 true.

lomization enthalpy is the energy vequired to remove
an electron from an wolated gascous atomn m s
ground state

Assertion : Croup 1 (1s) clements are known as the
alkali cleaments

Reason : s-orbital can accommodate only two electrons.
Ans : (b) Both sssertion (A) and reason (R) e
true but veasom (IR) is not the corvect explanation of
assertion (A).

Group | elements are known as alkali metals as the
hydroxides of these metals are soluble m water and
these solations are highly alkaline in nature

Assertion : Noble gases have zeto valency

Reason @ Noble gases have stable  electronic
vonliguration.
Ans ¢ (0) Both assertion (A) and reason (K) are true
and reason (R) 1 the correct explanation of assertion
(A).

Assertion : In tnad, the three elements have smne
gops of atormie maosses.

Reazon ; Elementx in a triad have similar properties.
Ans : (d) Assertion (A) s folse but reason (R) 15 true.
In o triad, the atomic mass of the middle element is
the mean of the atomic masses of the fust and thud
clements.

Assertion : Sixth and seventh penods m the periodic
table contains 14 clements -
Reasan : In the periodic table. 14 clements of sixth
and seventh periods are known as lanthanoids and
Ans : (d) Assertion (A) is false but reason (R) 15 true.
Sixth period contains 532 elements and seventh peniod
1 incomplete and like sixth, the penod would have 32
clements.

Assertion @ Mendeleev's  amranged  clements i
horizontal rows and vertical colonmns.

Reason : Mendeleev's 1gnored the order of atome
weight thinking that the atomio measnrements might
e meorrect

Anz: (b) Both sssertion (A) and reason (R) are
true but renson (R) i not the correct explanation of
assertion (A).

Mendeloov's airanged elements in honzontal rows
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und vertical columns. He ignoned the order of atonme
weight thinking that the atomic measurements might
be meomedt and placed the clements with sunilar
propertios

Assertion : Smaller the sz of an atom greater s the
clectro-negativity.

Reason @ Electronegativity refers to the tendency of
atom Lo share electrons with other atom.

Ans : (¢) Assertion (A) 15 true but reason (R) is false.
Assertion is trme but reason is false
Electro-negativity refers to the tendency of atom to
attract bonding electroms

Assertion ¢ Floovine has greater atomic vadins than
mitrogen.

Reason : Atomic radins decreases along o period.
Ans ¢ (d) Assertion (A) is false but reason (R} is true

Assertion : Elements in the same vertical colomn have
similar properties.

Reason : Eleruents have periodic dependence npon the.

atomic number

Ans: (b) Both assertion (A) and reason (R) are
true but renson (R) s not the cormect explanation of
assertion (A)

. Assortion : Smaller the size of an atom. greater is the

clectronegativity.

Reason : Llectronegativity refers to the tendency of
atom to shoae electrons with other atom.

Aus : () Assertion (A) s tme but yewson (R) 18 folse
Elexctronegativity refers (o the tendency of atom to
attract bonding electrons

Assertion : The ntomwe and iome mdn genevally
decrenses towards right in a period

Reason : The jonisation enthalpy incresses on moving
towards left in a period.

Ans : (¢) Assertion (A} is true but reason (R) is false
The ionisation emthalpy increases on moving towsrds
the extreme right clement i period and atomic and
ionic radii decreases in a pericd from left to right.

A Asoerthn:ﬁlmanmindmmmemﬁcdmlmnhnm

similar propertes.

Reason : Flements have poriodic dependence supon the
Ans : (b) Both assertion (A) and remson (R are
tre bt reason (R) is not the corvect explanation of
assertion (A)

Assertion : Be and Al show some similar properties.
Reason : The metallic madins of Be is less than the
metallic yadius of Al

Ans : (b) Both assertion (A) and reason (K) ae
true but reason (R) is not the correct explanation of
sesertion (A)

Be und Al show diagonal relationship becanse Be
resemble in their properties with AL Metallic radins
of the Be (111 pm) is less than the metallic radins of
Al (143 pm) Althomgh smaller size is the veason for

. Assertion :

the anoanadous behaviour of Be but not a reason for its
diagonal relaiion with AL

Assertion According W Mendeleev,  peviodic
propertics of clements 1 s function of thar atomnc
number
Reason : Atomic number w egual to the nunber of
protons
Ans : (d) Assertion (A) 1s false but reason (R) is true

According to Mendeleev' periodic  properties  of
alements i a function of their atomic masses.

The highest LE in o penod 1 shown by
noble gas.

Reasan : Nohle gases ave ot the extreme right of the
period.

Ans: (b) Both gssertion (A) and reason (R) are
true but reason (R) is not the correct explanation of
assertion (A).

Both assertion and reason are true but reason is not
the correct explanntion of wssertion.

Noble gases have comppletaly filled electron shells and
very stable electron guration

Assertion : Noble gases are lughly reactive.

Reason : Noble gases have stable closed sholl electranic
configuration

Ans : (d) Assertion (A) 1s false bot resson (R) 1s true.
Inert gases (noble gases) are very less reactive due ta
:ul:; closed shell electronic configurution like ns' np’
or
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